Name:

1 What are three things you notice about the sentence below?

a question, compound words, possessive noun, etc.

Who threw popcorn and oatmeal into Tom's stewpot?
Answers will vary, but may include ideas such as: starts with a capital, ends withéﬂ5

olnicle Halves are two 7!! +40= 1!!

equal parts of a whole.

2 Circle the correct spelling for each picture. 3 S S h e h ung the 'FrCI me
askew askew.
R How does the frame look?
crooked; not
straight crooked or not
(adjective) Strﬂlght
4 onhce 5 Draw the missing half of each 6 7 Use the data table to answer
shape. 6 tens + 4 tens = 10 tens the questions.
T Number of Kids Who Brushed
ojn|c|e 60 +40 = .Ioo > Their Teeth Today
Logan’s Class 10 /
oncle Amy’s Class 8
I 7 tens + 4 tens = L tens Tresten’s Class 6
Estela’s Class n

The most kids brushed their

On Friday, Sonia picked some strawberries. On Saturday, she picked 30 more strawberries.
Over both days, she picked 42 strawberries in all.

How many of the strawberries did she pick on Friday?

12 strawberries were picked on Friday
12+30=42

teethin _E_s_tﬂj_q_’s class.

The fewest kids brushed their
teethin TreSten s class.
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Name:

1 Circle the 3 compound words in each sentence.

Who threwcmdinto Tom's
The wind blew my new(sunglasses. the

Combining 2 or more small words makes a compound word.

2 Sort the words by their spelling pattern.

3

What does askew have

cashews.

Cashews are

Oshoes
.nuts

2+ 9 -

n-9=_2_
5L-2=9

| f n iy to do with couch cushions?
glue ew grew rue askew
T ANSWERS WILL VARY
-ew -Ue crooked; not
straight
d. t' ° (]
flew glue (adjective) [couch cushions might be
grew true askew]
4 Use context clues to find the 5 Write combinations of I1. 6 true statements. 7 Fill in the missing 5 minutes.
meaning of the underlined word. : Cross out [X] false statements. :00
She’s allergic to nuts LL 1 26 can be expressed as:
like almonds and 5 6 9 2 m,h ‘1’

i2 tens 6 onesl
('I ten 16 ones)

He still has 10 sunflowers in his garden.

14 sunflowers

24-14=10

8 In his garden, Mr. Darvish grew 24 sunflowers in his garden. He picked some of them.

How many sunflowers did Mr. Darvish pick?

Draw the minute hand showing

that 40 minutes have passed

since the hour started.
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Name:

1 Finish the sentence with a compound word made with the word rain. EXAM pLES:
rainbow, raindrops,
In the storm, we saw e ds rainboots
ANSWERS WILL VARY . ',f I rai :
Don't forget the raincoats, raintall, rainspout,
Fainstorm, rainwater
2 Write the word that matches each picture. 5 Your clothes might be
askew if...
screw drew grew few

.............. _askew  \NSWERS WILL VARY

crooked; not
straight
(adjective)

[if you dress in a hurry, if
it’s windy, if you run, if

Screw they're too big, etc.]

5 Add 6  Write the numeral. 7 Cross out [X] the shape that is

! NOT a triangle.
1+ 9 =10 (9 + 1 =10

s ome e T P e B e —

2.8 w0s. 2 .| | 2 [0 26 Kﬂ
s|o|m|e 3+ 7 =107+ 9 =10

What do you notice? 3 tens O 4"
ANSWERS WILL VARY 11 ones
s o m e [you can change the order of addends and

the sum stays the same]

8 Golda is 46 years old. She is 5 years older than Lewis. HOV‘V can );OU tell the shape is not
How old is Lewis? a triangle: .
41 Id It has 4 sides and
years o angles, but a
46 -5 =41 triangle has only 3.
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2 Circle & write the word that has the same vowel sound as the picture.

spun

good

&

@

. Would it be good or bad to have
a bridge that is askew? Why?

askew

crooked; not
straight
(adjective)

ANSWERS WILL VARY

“ ” “ ”
not or 'to remove

unscrew

base word

prefix

un

definition
to remove the screw

6  Write greater or less to
compare the numbers.

15is Iess than 25

7 greater o a

I ess than 76

67 is

sois greater w26

8  Skip count each row by 10.

(2) 32 @2 62 () 72 (2
Q) () @2 &2 &2 ()

Rogan has 12 carrots to make

3 pots of stew.
How many carrots will go in
each pot of stew?

4 carrots

12is
3 groups of 4
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Name:

1 Use the word book to form a compound word and use it in a sentence. the compound words.

ANSWERS WILL VARY

EXAMPLES: bookmark, bookend, notebook, bookshelf, bookstore, textbook,

workbook, playbook, bookworm, bookcase, gquidebook, cookbook, etc.

2 Draw lines to match each singular noun with its plural form.

womdn Mmouse goose deer

geese women deer mice

Change the spelling of some nouns to make them plural.

3 Draw a line to connect each word to the correct meaning.

mellow gloat

sway

calm and relaxed; not to move slowly back

and forth

to be happy when .
someone feels bad iloud, harsh, or irritating

4 piece 5 Solve.

plilelc|e

clcle] | ©v6-60
elc|e -=@

p

P

6 Draw arrows to add tenonthe | 7 Andrew blew 28 bubbles.

open number line. Camila blew 20 bubbles.

How many bubbles did they

+10 L blow in all?

L
38
38+10 = 48

48 bubbles

+10

=1 28+20=48

8  Each O stands for T unit. e tete
The Band-Aid is about 7 units long. N
a
N
The swab is 3 units longer than the

Band-Aid.

© Second Story Window

ninety-five

ShopSecondStoryWindow.com



Name:

1 What are three things you notice about the sentence below?

DAY

Anytime | see a lighthouse, | feel seasick!

96 Answers will vary, but may include ideas such as: it starts with a capital, it’s an
exclamation, it has compound words, etc.

2 i ' ’ 3 . ..
Circle the correct spelling for ea.ch picture. | - An u ntled shoe|dce is JUSt
° °
N = slight a slight problem.
Y e~
- u" Is an untied shoelace a big problem?
- very small .
No, it’s a
flite < flight ) flyte (adjective) very SmG"
.ﬂ ight ----- problem.
4 r i g h t 5 The number line goes from O 6 7 Use the data table to answer
Zo l. Drawoan );f;alfway 10 tens - 3 tens = 7 tens the questions.
° etween U and |. Number of Kids Who Brushed
r | g h t L X R 1 OO -30-= 70 > Their Teeth Today
N (l) 'lI . Logan’s Class 10 /
ri|i g h t How did you know where to Amy’s Class 8
draw the X? 9 tens - 8 tens = .I ten Tresten’s Class 6
v i g h t it’s in the middle 80 .Io Estela’s Class n
90 - N LY I S
between O and 1. 2 fewer kids brushed in Tresten’s
8 Callie had $30. She got some more money for her birthday. Now she has $45. class than in_AmL’s
How much money did Callie get for her birthday? class.
15 do"qrs There.i1619 kids in Logan’s
lass. kids brushed and
$30 + $15=$45 ‘
—— 9 did not brush today.
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Name:

1 Circle the 3 compound words in each sentence.

| see c:(iac‘]hthouse)l feel

Can you get ofrom the(moonlightfoutsidel

Combining 2 or more small words makes a compound word.

2 Sort the words by their spelling pattern.

write sight quite right
-ight -ite
sight write
right quite

3

very small
(adjective)

If there is only a slight chance of winning
a game, are you likely to win?

ANSWERS WILL VARY

[probably not--there’s
_only a very small chance

of winning]

4 Write a synonym fromthe box | 5 Use 2 numbers in each group

for each bold word. to make 11
leap  pick  make BE0Q
choose DL:I( @ ) @ .
jump __leap
build _ make 6l

Synonyms are words that have
about the same meaning.

-@-@

true statements.
Cross out [X] false statements.

84 can be expressed as:

(7 tens 14 ones)
(4 ones 8 tens)

How many light bulbs went out?

10 light bulbs
38-10=28

8 There are 38 light bulbs in the house. Some light bulbs went out. 28 light bulbs are still glowing.

7

Draw the minute hand showing

Fill in the missing 5 minutes.

:00

:30

that 10 minutes have passed

since the hour started.
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Name:

1 Finish the sentence with a compound word made with the word light. EXAM pLES:
DAY The ig%arcj:léihﬂ:gf:, stoplight, sunlight,
light,” light, starlight,
08 ANSWERS WILL VARY 2°Y!'ght, mooniignt, starlig
C streetlight, lighthouse,
an you see the : P s
famplight, skylight, taillight
2 Write the word that matches each picture. . You might give a slight smile if...
might knight bright flight m ANSWERS WILL VARY
................ A o
(o { :? g% (adjective) [something is a little
X funny, you're a little
—bright——knight~ opy. e
4 h i g h 5  Fill in combinations of 10. 6 Write the numeral. 7 Cross out [X] the shape that is

NOT a hexagon.

10 10=3+ 7

hlijglh] |17 1w-7 .|| S D70 || T\ v\ ]
h h 10 10=1+_9 Q XW

1 9 10 = +1

h ; g h 6'IO4 :g::?z 4:::: O 47 O

How can you tell the shape is not

Q

8 Hank has flown on 57 airplane flights. That is 4 more airplane flights than Juniper. 9
On how many airplane flights has Juniper flown? a hexagon?
el fliah It has 5 sides and
53 airplane tlights angles, but a

hexagon has 6.

57-4=53
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Name:

" Rewrite the sentence correctly. ) is the streetlite too dim to play foot ball

DAY

__________ Is_

99

give
limp

print
friend
K slime H

very small
(adjective)

Would you go on a picnic if there was a
slight chance of rain?

ANSWERS WILL VARY

©  (-full)

“full of”

frightful
fright Ful

base word

ful
........... sl

full of fright

2+6=

12+6=ﬁ
52.6: D8
92+6=ﬁ

6 Write greater or less to
compare the numbers.

88is gl"eCI tel’ than 87

23 less  ihan32
595 l@SS  than 95
14 is Ieis than 41

e

8  Start skip counting by 10. Switch to a different rule at the arrows.

e

g

(©) 20 80 49 69 (9 69 65 (o) 62 68

There are 10 stoplights. Each
stoplight has 3 colored lights.
How many lights are there in
all?

30 lights

3 groups of
10 makes 30

®)
@)
O
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Name:

1 Use the word time to form a compound word and use it in a sentence. the compound words.

DAY

timeline, longtime, playtime, lunchtime, nighttime, dreamtime, showtime, etc.

2 Write the two words that make up each compound word. 3
goodnight = ___good night
spotlight=___spot  +__ light

righthanded = __right +_handed

+

loud, harsh, or irritating

Draw a line to connect each word to the correct meaning.

askew

mellow

“spunky

full of

spirit and energy

i crooked; not straight

Combining 2 or more small words makes a compound word.

4 b e g i N 5 Solve. 6 Draw arrows to subtract ten
' on the open number line.
| ©@®
blelg|i|n o 10
b e g i m 100-10=m .
, -10
° ) w—
b e[ [n] |@+10+(0-@ :
9 14-10=_4
8 At Camp Woodland, they have 58 flashlights.
40 of the flashlights have batteries and the rest don't.
How many flashlights d’on 't have batteries?
18 flashlights don’t have batteries.
e s
58-40=18 ©

7 Partition the duckies by
circling groups of 4.

g &

There are

of 4 duckies.

groups
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Name:

1 What are three things you notice about the sentence below?

a period, compound words, adjectives, etc.

In the chilly wintertime, we made a funny snowman.

Answers will vary, but may include ideas such as: starts with a capital, ends with

2 Circle the correct spelling for each picture. 3

grime

dirt that covers

The mirror is so coated
with grime that | can't

What’s wrong with the mirror?

see anything!

It's covered
with dirt.

something
slim chim chiem
(noun)
_____ I‘ .. h‘ e
Siime cnime
4 b r i N g 5 Shade a fourth of eachshape. | 6 6 hundreds + 1 hundred =

2 hundreds
600 + 100 =@

|

7 Write 2 things you notice
about this bar graph.

) Favorite Recess Activitiesm
e/

b|r|i|n|g

3 hundreds + 2 hundreds =

5 hundreds

—:'b:J(:)lQLl'lCh\ICD

\‘i

CO——OP

28 + 4 =32

[ ] n
b riiln other qns.v’ers are i tag soccer 4square slide
2 possible 300-200-200
8 Miguel had 28 toy cars. For his birthday, he got some more.
Now he has 32 toy cars. answers
How many cars did he get for his birthday? . I I
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Name:

1 Circle the 3 adjectives in each sentence.

In the(chilly)wintertime, we made snowmcm with qhqt.
He |ikesmi|k, ohug, and otory at bedtime.

Adjectives describe nouns.

2 Sort the words by their spelling pattern. 3 What does grime have
! : hiah - T to do with a broom?
ie pie ig sig gl'l me
‘igh = i -~~~ ANSWERS WILL VARY
. something
high lie :
9 (noun) [you might need a
° ° ’ : °
sigh pie . broom to clean grime]
4
4 Use context clues to find the 5  Write combinations of 12. 6 true statements. 7 Fill in the missing 5 minutes.
meaning of the underlined word. Cross out [X] false statements.

These are the prime 12 12 19 can be expressed as:

days of summer—it won't 7 5 2 10 M
t better than this!
getbetterfhantis” 112.7- 5 12 -10-2

:i:e:'neans . 5. Z 212 112 2 -10 i 19 ones l
es
Omelt 12 -5-7 10.:2-12 (_1ten9ones )

8 The kids made 48 batches of slime at day camp. Some of the batches have glitter.
That left 39 batches of slime without glitter. :30

How many batches of slime have glitter?

Draw the minute hand showing

9 batches of slime have glitter that 25 minutes have passed
48 -9 = 39 s
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Name:

The

‘w’ hopped on the

1 Add adjectives to complete each sentence. the noun each adjective describes.

ANSWERS WILL VARY
At nighttime, | saw the cmd

(sta rs:)

grime

2 Write the word that matches each picture. 5 You might be covered in
. : _ : grime f...
prime lime dime time

ANSWERS WILL VARY

s hlolrlt| |- 210 1+_19 =20

4+ 6 -104+16-2 6 hundreds OO0

s hlojr|t| [_Z +«3210 17 +3-20

What do you notice? 11 ones O 9"
h t ANSWERS WILL VARY 8 tens
S O r [If you add a ten, the ones value doesn'’t
change.]

dirt that covers
something [if you step in the mud,
(n;n) you play outside, etc.]
S dime 1IIME \
- <hort > ~ 7 all the quadrilaterals.

Cross out [X] shapes that are
NOT quadrilaterals.

Kurt bounced the paddle ball 31 times. That's 6 more times than Rachel.
How many times did Rachel bounce the paddle ball?

25 times
31-6=25

\
O

Q0O

Quadrilaterals are any polygon (shape)
that has 4 straight sides and 4 angles.
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2 Circle & write the word that has the same vowel sound as the picture.

sting

grime

What is the best way to clean
up grime?

‘ (re-

) 5

“back” or “again”

prefix

re

refill

base word

fill

definition

to fill again

6-2._4
36-2- 94

60-20:40
600-200:400

! time C r I S p dirt that covers
something
trick ANSWERS WILL VARY
ﬂ think feo-oeeooono- h O .. (noun)
q
Subtract. 6  Write numbers to make each 7 At the bakery, 10 pies can fit

statement true.

45 >

is greater than

45 <ANSWERS

is less

98 >

is greater than

<

is less than

98

on a shelf.
How many pies can fit on 10
shelves?

100 pies

10 groups of
10is 100

8  Determine the value of the group of coins. Don't forget the cent sign ¢ !

T
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Name:

1 Write a sentence describing what you like to eat at lunchtime. the adjectives.

2 Write the two words that make up each compound word. 3 Draw a line to connect each word to the correct meaning.

sometimes=__some _+__times
lifetime = life +_ time
timeout = t" ne + _O_U_t_ to fix something crooked; not straight : very small

Combining 2 or more small words makes a compound word.

mend  slight  askew

4 p I ace 5 Solve. 6  Write how many. 7 | flipped a dime 52 times.
12 times it landed head side up

and the rest it landed tail side
up.

How many times did it land
tails?

89
)
=® 40 times
€0

plllajc|e

plllajc|le

p|l|ajc|e

5 hundreds = 90 0O 52-12=40

8  Each O stands for T unit.

=

The crayon is about 7 units long.

1

The crayon is 4 units shorter than
the pencil.
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Name:

1 What are three things you notice about the sentence below?

DAY

Gran’s new Volkswagon van is so yellow and bright!

.I 06 Answers will vary, but may include ideas such as: it starts with a capital, it’s an E@%

exclamation, it has proper nouns, a possessive noun, adjectives, etc. ’o1 O-

2 Circle the correct spelling for each picture. 3

Mom banned slime from
ban our house after | dropped
Ik S some on the rug.

to say people can't
Y peck Can | have slime at my house?

rane rain main do something No, Mom says |
_______ ran " TUman (verb) &can’thaveit.

4 y ouU ’ I I 5 Label each partitioned shape 6 5 hundreds - 4 hundreds = 7 Use the bar graph to answer
halves or quarters. 'I the questions.

o U ’ I I hundred ) Favorite Recess Activities m

Y @ quarters | 500-400-100 1. =]
, ............... ‘:,
Y O|U ||| hal 7 hundreds - 3 hundreds = «
—naives ::
’ VAR S J‘_ hundreds -

ta soccer 4square slide
yloju| | 1] quarters 400 :
700 - 300 =

4 kids chose tag

8 There are 48 ants on a sandwich. . . .
as their favorite recess activity.

How many more need to come for there to be 54 ants?

6 more 3kidschose4 SgUCIre
% 48 + é - 54 as their favorite recess activity.
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Name:

1 Circle the 3 adjectives in each sentence.

Gron’son is son
Without ocmolle, this a(useleslittlg pan.

Adjectives describe nouns.

fancy fry

2 Sort the words by their spelling pattern.

July jelly

'y=long e sound

y =longisound

fancy
jelly

fry
July

3

ban

to say people can'’t
do something

(verb)

[
\,\ﬂ

ANSWERS WILL VARY

What does ban have

to do with rules?

[a rule might ban
something]

4 Write a synonym from the box

for each bold word.

5 Use 2 numbers in each group
to make 12.

study discover beg

ask _g_be
find discover

learn SLJCIY

Synonyms are words that have
about the same meaning.

7408

(9-@-®

(2-©-©

true statements.
Cross out [X] false statements.

65 can be expressed as:

( 650nes )
£4 tens 25 onesl

7 Fill in the missing 5 minutes.

100

33 pans
33-5=28

8 There were some pans for sale at the store. 5 pans were sold and there are still 28 pans left.

=4

How many pans were there to start with?

:30

Draw the minute hand showing
that O minutes have passed

since the hour started.
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Name:

1 Add adjectives to complete each sentence. the noun each adjective describes.

DAY The (man)has a hat,
108 ANSWERS WILL VARY
We ran to the store)for a (treaf)
2 Write the word that matches each picture. 3 A school might ban...
= o ban ANSWERS WILL VARY
|:| to say people can't
%‘% @' do something [chewing gum, running
C J (verb) in the hall, etc.]
______ - U — _——— - - - - /
vdan pdn -
4 cdadn ’ t 5 Solve. 6 Write the numeral. 7" Draw 2 different
""""""" quadrilaterals.
claln ’ t 6+4=10 16+4-20 4 e
............... ens
How is adding 6 + 4 like 5 ones O 45 ;
2 R [ N adding 16 + 42
n ANSWERS WILL VARY
cld £ ANSWERS WILL
’ t [changing the tens affects 92 ones O 92 VARY
can the tens place]
8 The can of green olives has 35 olives. The can of black olives has 7 more olives than the green olive can. How canyou t:” your shapes are
How many black olives are in the can? quadrilaterals:
black ol They have 4 sides
42 black olives
and 4 angles.
35+7=42
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. S What is something you would like to ban if

ban

to say people can't
do something

(verb)

[
\,\H

ANSWERS WILL VARY

you could?

planless

suffix

less

base word

plan

definition

without a plan

40+ 30= m
400+ 300 =&O

6 Write numbers to make each
statement true.

55 >

is greater than

53 <ANSWERS

is less t

e >WILLVARY

is greater than

80 <

is less than

8  Determine the value of the group of coins. Don't forget the cent sign ¢ !

7 Each van needs 4 tires.
| have 20 tires.
How many vans can | put
tires on?

5 vans

20is
5 groups of 4

00 00 00
00 OO0 OO0
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Name:

1 Write a sentence describing a man. the adjectives.

hlo|w (e9)-(4)=69)
hlo|w (D+()-(9

(49-20=(20)
hjolw|  |Go)+(0)+(8)-98| 9... 900

2 Choose an adjective from the box to describe each noun. 3 Draw a line to connect each word to the correct meaning.
cold many short sweet bumpy green e W W e
slight sway grime
apples snacks
ANSWERS WILL VARY S TR TN
o move slowly back i irt that covers
clouds sheep o foth L somathing very small
Adjectives describe nouns. .

4 h oW 5 Solve. 6  Write how many.

8 Mirabel ran in many races.
She won 6 of the races, but lost 25.
How many races has Mirabel run?

31 races

6 + 25 =31

There are é baseballs

in a group.

There are 5 groups
of baseballs

There are 30 baseballs
altogether.
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Name:

They think he is old enough to play football with them.

1 What are three things you notice about the sentence below?

Answers will vary, but may include ideas such as: starts with a capital, ends with
a period, compound word, verb, adjectives, pronouns etc.

2 Circle the correct spelling for each picture.

3

That mouse was bold to

How many goats are there now?

28 goats
17 +11=28

bold run past the cat!
T What is the mouse like?
brave and
confident It is brave and
goald golde < gold ’ < mold ’ mowld molde .
(adjective) conﬁdent.
4 ed t 5 Circle shapes that show 6 7 Use the bar graph to answer
thirds. m the questions.
Favorite Recess Activities
elalt C 3 ) )
j the digit | the digit | the digit 8 e
el a t stands stands stands :3;:
for for for 2-
Thundred | 3 tens 20nes | " .
el a t Thirds are three or 100 or 30 or 2 tag soccer 4square slide
equal parts of a whole.
The fewest kids chose
8 There were 17 goats. Il goats came to join them.

A-_s_qmr & their favorite.

The most kids chose

SOCCEY as their favorite.
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Name:

1

Circle the 3 pronouns in each sentence.

hins old enough to play football wit

old@to come picl®Jp soon.

A pronoun is a word used in place of a noun.

2 Sort the words by their spelling pattern. 3 What does bold have
iy to do with singing in a talent show?
pond bold lost most bOId
A | - ANSWERS WILL VARY
short o ong o _ ,
confident [You might need to be
d. t- ° (]
pond bold (acjective) bold to sing in a talent
lost most show.]
4 Use context clues to find the 5  Write combinations of 13. 6  Write the number shown by 7 Count by 5 to tell how many
meaning of the underlined word. : the blocks. minutes have passed.
When Mom sees the 13 13
mess we made, she’s 10 3 6 7
ing t ld us!
going to sco Us 3+ 10=13 E-6=7 S
Scold means
13 - 10 = 3 13 - 7 = 6 (hundreds tens ones \ JQ minutes have passed
@to talk in an angry way i co the h tarted
= since the hour started.
QOto act like an old person E -3=10 : L +7=13 [ 2 7 6 J 276

Pasqual baked 58 loaves of bread.
After a few days, 12 of them grew mold.

How many loaves of bread are still good to eat?

58-12=46

46 loaves of bread

al

Ai minutes have passed

since the hour started.
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Name:

1

Begin each sentence with a pronoun.

PRONOUNS
| she
you we
he they

said it's too cold.

ANSWERS WILL VARY

sold it to the old man.

2 Write the word that matches each picture.

“bold

brave and
confident

(adjective)

You would have to be bold to...

ANSWERS WILL VARY

[something that
requires bravery or

confidence]

fold cold hold told
A
& 3
4 old 5 Add.
2+2= 2+3=
ollldl 22224 2+3- 92
5+5=1O 5+6= TI
ofl]d 707=14 7.8-13
What do you notice? |
o I d [If you kﬁ:frlﬁizi:z:t: ::/:;Rdvoubles +1
is easy to figure out.]

6  Write the numeral

6 hundreds
2 tens
8 ones

0 628

3 hundreds
9 tens
5 ones

0 395

7 pairs of parallel lines.

Cross out [X] lines that are

NOT parallel.
EXAMPLES:
parallel NOT parallel

\\

Tess read 21 pages of a book. Christian read 25 pages.
How many more pages did Christian read?

4 more pages

21+4=25

E=

X

Parallel lines are always the same
distance apart--they will never touch!
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Name:

T Rewrite the sentence correctly. ) She can hOlde her bre(]th d |ong tlm

2 Circle & write the word that has the same vowel sound as the picture.

When have you had to

soft m be bold?
love }ocmmem - N e et
I old brave e
g (adective) ANSWERS WILL VARY
mold b-o-coccce e e B P e oo oo -
los

5 Make jumps of tens and ones 6 Use symbols to compare the

4
( p re ) ) to add 22. numbers.

ub ” +10 1']0 +1+1
efore /\/_\J' o
LI

EE =

preheat

prefix base word 25 + 22
2l | &6
pre | heat Rt
definition &SC ' 'W > < —
to heqt before 56 + 22 = 2 & is greater than s less than iseqTalto

8  Determine the value of the group of coins. Don't forget the cent sign ¢ !

7

The pet store has 24 fish and
6 fish tanks. They want to put
the same number of fish in
each tank.

How many fish will they put
in each fish tank?

4 fish

6 groups of
4is 24.

L
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Name:

1 Write about something you could teach me. the pronouns.

2 Choose an adjective from the box to describe each noun. 3 Draw a line to connect each word to the correct meaning.
twenty dirty light cold colorful sad - .
ban grime main
cakes frogs
ANSWERS WILL VARY -
bU bbles teeth dirt that covers to say peop[e'can t do the most important
something something :
Adjectives describe nouns.
4 even 5 Solve. 6  Write the missing numbers. 7 Wilder spent 75¢ on a poster
and 14¢ on a folder.
- @ = @ 200 How much did she spend in
e|vieln s5g 700 all?
o-e-ay |[5097%
e vien 3 Q Q
+®=@ part 400 89¢
e|lvieln +@=@ 100 75¢ +14¢ = 89¢
part whole

The hammer is about

Your line is 4

8  Start at the dot. Draw a line that is 9 units long.

5 units long.

units longer than

the hammer.
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Name:

1 What are three things you notice about the sentence below?

| don’t understand how you cut yourself with a dull spoon!

Answers will vary, but may include ideas such as: it starts with a capital, it’s an
exclamation, adjectives, noun, pronouns, verb, compound word, etc.

“You're okay,” she
crooned to the scared

How did she talk to the puppy?

)W low voice.

PUpPPY.
She used a soft,

7 Use the bar graph to answer
the questions.

) Favorite Recess Activities m
e

—:l?(fl#(.l‘lth\ltn

tag soccer 4square slide

3 fewer kids chose

How many quarters does she have now?

40 quarters 28 +12=40

How many more does she need to have all 50 state quarters?

10 more 40 +10=50

2 Circle the correct spelling for each picture. 3
o MONH croon
to use a soft, low
@ voice
soone - sune noone L d
(verb) '6‘
4 H 5 There are 6 kids. Each one 6
I : g h t wants half an apple for a 785
o snack.
I | g h t How many whole apples do
they need? the digit | the digit | the digit
. 7 5
l|i|glh|t| |3 whole apples sands | Sgng, | stonds
or f or
: OO OO O |ttt o | B
I | g h t ' ' ' 070 or 80 or5
8 Oonagh had 28 state quarters in her coin collection. Then she got 12 more.

4 square than chose slides.

Together, tag and soccer were

picked by 12 kids.
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Name:

1 Circle the 3 pronouns in each sentence.

@Jon’t understand hocuith a dull spoon!
Gde the snowmon(ourselves) but the sun will soon mel

A pronoun is a word used in place of a noun.

2 Sort the words by their spelling pattern. 3 What does croon have
to do with a lullabye?
d | book
- - - croon ANSWERS WILL VARY
short oo (cook) = long oo (cool) to use a soft, low
- voice .
good |oop (varb) [you use a soft, low voice
to sing a lullabye]
book soon
4 Finish the sentence with the 5 Use 2 numbers in each group 6  Write the number shown by 7 Count by 5 to tell how many
stronger synonym. to make 13. the blocks. minutes have passed.

get grab n E

Grab the spoont ®=®+@ EE Emw

E E ( lmtbth || o e ) & minutes have passed
Synonyms mean almost the same thing, @ - @ + [ 4 5 3 J = 453 since the hour started.
but some have a stronger meaning.

8 Delroy blew up 47 balloons. Carol popped 31 of them and the rest blew away.

How many balloons blew away?

16 balloons blew away

47 - 31=16

© Second Story Window one hundred seventeen ShopSecondStoryWindow.com
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Name:

1 Complete each sentence with matching pronouns.

DAY PRONOUNS drew the cartoon

118 meelf - vouryoursell | ANSWERS WILL VARY

we - ourselves
saw the racoon for

he - himself they - themselves

2 Write the word that matches each picture. 3 : | crooned to...

noon swoon moon spoon m ANSWE RS WILL VARY

to use a soft, low

voice [a time when you
(verb) needed a soft,
low voice]

__sSpoon moon

4 COO I 5 Solve. 6 Write the numeral. 7 Draw 2 different pairs of

parallel lines.

clolo I 4+4=A 4+5=i 9 hundreds T —
How is adding 4 + 4 like O tens O 901
.............. adding 4 + 5? 1one
clolo|l ANSWERS WILL VARY

4 hundreds ANSWERS WILL
I [it's just one more, since 5 7 tens O 472 ...... VARY .............................
C/lO|O is one more than 4] 2 ones How can you tell your lines are
parallel?
8 The restaurant has 39 spoons and 14 forks.

How many more spoons do they have than forks?

25 more spoons

39 - 14 — 25 Parallel lines are always the same

distance apart--they will never touch!
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Name:

I Rewrite the sentence correctly. ) what if you were on the moone by youself

(-ly)

“in a certain way”

coolly

base word suffix

cool

ly
definition

in a cool way

to subtract 23.
-1-1-1 -10 -10

e e

&—O+H

2 Circle & write the word that has the same vowel sound as the picture. | 3 What would be a good song
s to croon?
=
soon wo o d to use a soft, low
voice
foot (verb) ANSWERS WILL VARY
look p-------c-Bmmmm e
hoop o o p
4 5 Make jumps of tens and ones 6 Draw lines to pair up pictures. 7 At the shoe store, 10 boots fit

Is it an even or odd amount?
& & &
&) &

odd

even or odd

7 is an number.

on a rack.
How many racks are needed
to hold 68 boots?

7 racks

60 = 6 groups
of 10

8  Determine the value of the group of coins. Don't forget the cent sign ¢ !

plus 1rack for
thelast8

boots.
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Name:

1 Write a sentence telling something you do to take care of yourself. the pronouns.

2 Draw lines to match the words with the correct pronoun. 3 Draw a line to connect each word to the correct meaning.

Ann and | a car Fred the kids

" heed  bold  ban

it they we he to say people can’t do to pay attention to brave and

something something confident

A pronoun is a word used in place of a noun.

4 soon 5 Solve 6  Write the missing numbers. 7 Partition the 15 turtles by
_ @ m circling groups of 5.
s|lo|o|n ) et 300
-6 |0
part whole
"2 | @409 |[ 300
e 900

s|lo|o|n +@+= 600 »

8 Boone cleaned his bedroom for 41 minutes. He spent 15 minutes longer
cleaning his bathroom than he spent on his bedroom. O
How long did he spend cleaning his bathroom? O

56 minutes N 3
ggéoo There are groups
41 + 15 — 56 ‘/4‘ of 5 turtles.

© Second Story Window one hundred twenty ShopSecondStoryWindow.com




Name:

1 What are three things you notice about the sentence below?

If you hadn't broiled the oatmeal, it wouldn't have burned!

Answers will vary, but may include ideas such as: starts with a capital, ends with 21,
an exclamation, compound word, past tense verbs, contractions, pronouns etc. @

2 Circle the correct spelling for each picture. 3

The snake coiled up
coil in the sunshine.

- DR What is the snake doing?
to wind around .
in circles It is wound around
spoil spool spoyl boyl boil boile . .
O C ) (verb) in circles.

______ o !I-------------b- _'I_______
SPOI ol
1 hundred 4 tens II one ) Slices of Watermelon Eaten (
alit mm| E3 i

4 wdad i t 5 Shade a third of each shape. 6 141 7. Write 2 things you notice
100 + 40_ + .I Alexis &@)&&&&
Moira | N N KEY:
3 hundreds O tens i ones @ =1slice

about this pictograph.
wiai|t |

H Other answers are
wia|l|t| | Ytheranswersare oo~ 0 £ |
possible. &)+ Q + 6_
8 The boy has 45 coins. He earns 23 more.
How coins does he have now? answers

68 coins 45+23=68 [

How many more does he need to earn to have 75 coins?

7 more 68+7=75
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Name:

1 Circle the 2 contractions in each sentence.

If yohadn't)oroiled the oatmeal, it(wouldn't)have burned!
The bobyoll asleep if youse a softer voice.

A contraction combines 2 words with an apostrophe to replace the missing letters.

2 Sort the words by their spelling pattern. 3 What does coil have
: . " b . to do with a long scarf?
coin enjoy poin cowboy cOII
i oy 1 == ANSWERS WILL VARY
: : : in circles [It will need to be coiled
b
coin enjoy (verb) around your neck.]
[
point cowboy
4 Use context clues to find the 5  Write combinations of 14. 6  Write the number shown by 7 Count by 5 to tell how many
meaning of the underlined word. the blocks. minutes have passed.
Your hands are very 14 14
dirty after digging in 8 6 4 10
the soil! : :
L m+4=14 0909090303
Soil means .
O . 8 6 14 - 4 = 10 (hundreds tens ones \ _2Q minutes have passed
river
= i the h tarted.
® dirt 'I 6=8 :4_'_.'0: '|4 [ 'I 3 7 J 137 since the hour starte

8 There were 33 balloons.
13 of them popped.
How many balloons are left?

20 balloons are left ‘OB minates have passed
33 - 13 - 20 since the hour started.
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Name:

1 Complete each sentence using a contraction with not.

CONTRACTIONS
o o She say that.
idn couldn
, , ANSWERS WILL VARY
wouldn’t won't h
can't shouldn’t He come nere.
2 Write the word that matches each picture. 5 | coiled up the long...
foil soil coil boil M:Voiim
| _coill  ANSWERS WILL VARY
S / to wind around
= in circles
Ty > " feord,rope, hose
ver
hair, scarf, etc.]
"""" coil———foil
4 t h em 5  Add. 6  Write the numeral. 7 Trace the paralell sides on
romm—— each trapezoid.
3+3= 3+2= 7 hundreds .
t h em S memrirredi SO et 0 tene O 702 :QMPLE.
.“4 +4:= 4+3= 7 ........ 2 ones / f/parallel sides
t h e m 8+8= !é :7+8= — e
__What do you notice? 3 h; :::ds O 3 3 5 \ __________ \
ANSWERS WILL VARY
t h em [If you know the doubles, the doubles -1 5 ones p— e
is easy to figure out.] ! N . 7
\_l
8 Troy scored 39 points in the basketball game. Chad scored 21 points.
How many more points did Troy score than Chad? ,] —
18 more paints — W —
39 - 21 — 18 Parallel sides are always the same
= distance apart.
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Name:

T Rewrite the sentence correctly. ) mom doesnt |Ike us to bOYl water

2 Circle & write the word that has the same vowel sound as the picture.

boss
fold

from

coil

to wind around
in circles

(verb)

What would you do if you saw
a coiled snake?

ANSWERS WILL VARY

“near the middle of”

midwinter

prefix
mid | winter |
definition

near the middle of

base word

5

Make jumps of tens and ones

to add 3.

winter

+10
—— o—>
44 54
44 + 31 =
( C C \
29 [60]
20+31= 60

6 Use symbols to compare the
numbers.

Q00
000

> <

is greater than s less than

is equal to

7 One child has 20 teeth.
If there are 3 children, how
many teeth are there?

60 teeth
3 groups of

8  Draw the coins needed to pay for the item.

ANSWERS WILL VARY

20is 60.
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Name:

1 Write about something you shouldn't do. the contraction.

2 Draw lines to match the words with the correct pronoun.

3

Draw a line to connect each word to the correct meaning.

you we she Tt T
bold mellow croon
ourselves myself  yourself  herself |camandrelaxedinot i braveand 4, |\ (o ow voice
loud or irritating confident
A pronoun is a word used in place of a noun.
4 wda t [ o4 h 5 Solve. 6  Write the missing numbers. 7 Moises baked 20 sugar cookies
and 14 chocolate chip cookies.
h + = @ 40150 Roy baked 12 sugar cookies.
a t [ o ek 800 How many chocolate chip
+ @ = @ M cookies does he need to bake
t h part ol to have the same number of
a [ o4 cookies as Moira?
+ =
50-co |[500 ol
600 cookies
o[t[c[n] | @-19-® [[ 0o
part whole
; 6 Moises: 20 +14 = 34
The snake is inches long.
Roy: 12 + 22 = 34
@)
) ) ) ) ) ) O
| | | | | | | |
0 1 2 3 4 5 6 7
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Name:

1 What are three things you notice about the sentence below?

It's careless to leave Blair's baseball where I'll trip on it!

Answers will vary, but may include ideas such as: it starts with a capital, it’s an @
exclamation, adjective, possesive noun, contractions, verb, compound word, etc.

“.2 Circle the correctspellingforea:chpicture. " 3 - : Mom g|CIrec| at Aizen
glare when she found the gum
he stuck to the chair.

. How did Mom look at Aizen?

She looked at him

0 0

~

stair steer ( stare ’

to look at someone
in an angry way

verb R
_____ s_ tare______ (verb) In an angry way.
4 never 5 There are 4 kids. Each one 6 71 7 Use the pictograph to answer
needs half a paper for an art the questions.
project. 7 .I II ) Slices of Watermelon Eaten (
ne/vie|r How many whole papers do hundreds fen one
they need? 700. 10 ._1 | [s|ecooess
nle|v|e|r| |2whole papers 925 | David [ 856> &>
Moira [ N 4N KEY:
n e V e r %g %g i hundreds 2 tens 5 ones & =1Islice
9 o O ) 2 O . 5 ........... .

AI € XIS ate the most slices

8 [ climbed 60 stairs, but | have 36 more to go to reach the top.
. . of watermelon.
How stairs are there in all?

96 StCI i rs | 4 slices of watermelon
% 60 + 36 - % were eaten by DqVid
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Name:

1 Circle the contractions in each sentence.

coreless to leave Blair’s baseball Wherrlp on it!
Mnever played so well cm|| because(you're)here!

A contraction combines 2 words with an apostrophe to replace the missing letters.

2 Sort the words by their spelling pattern. 3 S What does glare have
e to do with being mad at someone?

scare repair chair spare w ANSWERS WILL VARY

=-alr S =gre to look at someone
- in an angry way ’
. If you're mad at
repair scare (verb) [IFy ,
hai someone, you might
chair spare glare at them.]
4 Finish the sentence with the 5 Use 2 numbers in each group 6  Write the number shown by 7 Count by 5 to tell how many
strongest synonym. to make 14. the blocks. minutes have passed.

look peek stare n

iendeis | (D2(7)(7) I

stare

at the screen! E ﬂ E (hundreds | tens | ones ) A‘g minutes have passed
Synonyms mean almost the same thing, = @ + @ 7 5 O = 75 o since the hour started.
but some have a stronger meaning. \. ) A 7P

8 There were 36 hares in the meadow. 12 hop away.

How many hares are still in the meadow?

24 hares are left
36-12=24
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Name:

1 Complete each sentence using a contraction.

DAY CONTRACTIONS the one we want.
128 A| = ™ | ANSWERS WILL VARY |
e that's not going to work.
2 Write the word that matches each picture. g | glared at...
hare square mare " glare  ANSWERS WILL VARY
\éf . e angry ey [a time when you
ﬂ' (verb) felt angry at someone]

""" hur'e'"""""sqg'ar'e"'

6 Write the numeral. Draw 2 different trapezoids.

4 -FO un d 5 Solve.
.@B the parallel sides.
7+7=M 7+6=E 4 hundreds

f ojun d How is adding 7 + 7 like 6 tens 0460 ANSWERS WILL
adding 7 + 6? O ones VARY
f oun d ANSWERS WILL VARY
8 hundreds examples:

[it's just one less, since 6 is 1ten O 813 ,,,,,,,,,,,,,,,,,,,,,,,

f ojun d one less than 7] 3 ones Q
8 At school, 53 students have brown hair. 31 children have blonde hair.
How many fewer children have blonde hair than brown hair? D
22 fewer have blonde hair
Trapezoids are quadrilaterals with

53 = 31 = 2 one pair of parallel lines.

ShopSecondStoryWindow.com
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Name:

I Rewrite the sentence correctly. ) they wont cair if youre a little late

2 Circle & write the word that has the same vowel sound as the picture. | 3 What might make your teacher glare?

glare
anke | ---------_ O N SN
| crawl b I q St to look at someone

in an angry way

(verb) ANSWERS WILL VARY

paint
----------------- b
B chair |
4

( -er ) 5 Make jumps of tens and ones 6 Draw lines to pair up pictures. 7 | drew a bunch of squares.
............. to subtract 14. Is it an even or odd amount? One square has 4 sides.
“a person who does something” -10 = = Inall, I drew 20 sides.
&6 .'/\ >—> How squares did | draw?
I eda CI er [53] 67 5
base word suffix 67 -14 =ﬂ 7 SqUC"'eS
..............
lead er < = 20=5
g ——— e-c 9%% » aven \ — g ro U ps
| 81 | is an number.
a person who leads 95-14= 81 =Yeh of 4

8  Draw the coins needed to pay for the item.
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Name:

1 Write a sentence telling something you'll do later. Use the contraction Ill. the contraction.

2 Write the 2 words tiJr p each contraction. 3 Draw a line to connect each word to the correct meaning.
didn't - . _not ,
h askew croon coil
havent-_NAVE . NOt
COUld n't = c o U I d + n o t to use a soft, low to wind around crooked; not straight
voice in circles ’
A contraction combines 2 words with an apostrophe.
4 3 t (o | y 5 Solve. 6  Write the missing numbers. 7
s tla y -®-@ ETE 500
olotollIE::
part whole
s|t|a
! (7)+(+0)=67 |[ 100
% 200
S t (o | y + @ + @ = @ 'IqrtO e There are 8 grapes
- = in a bunch.
8 There are 28 chairs in the classroom. Most chairs are red, but 11are blue. | 3
How many of the chairs are red? Thereare ___ ¥  bunches
N of grapes.
ﬂ_ 17 chairsarered |
N 28+17=1 ®+®-®-23
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Name:

1 What are three things you notice about the sentence below?

We'd be nearly done cleaning if you'd cleared the table!

Answers will vary, but may include ideas such as: starts with a capital, ends ﬂ@%
an exclamation, contractions, pronouns, past tense verb, adverbs etc. T T

She smeared butter on

smear her bread.
R What did she do with the butter?

2 Circle the correct spelling for each picture. 3

to spread
: something in a She spread the butter
spear spere speer messy way °
In a messy way.
""" spear |
4 S i nce 5 Draw the missing third of 6 m 7 Use the pictograph to answer
each shape. the questions.
(3 i nicle 1 1 I I 2 hundreds o tens II one ) Slices of Watermelon Eaten (
200. O . 1 |[aewslooasss
s|i|n|c|e 1 885 David |58
I -  — Moira | N N KEY:
S i nNnNcle Thirds th 8 hundreds 8 tens 5_ ones & =Islice
are three
equal parts of a whole. 800+ 80 + 5 """""" o
Moirda e e
8 Captain Blackbeard has 27 chests of gold. He gets 33 more chests. .
How many chests of gold does he have now? fewast slices of watermelon.
D 60 chests of gold 27 + 33 =60 6 slices of watermelon
@- were eaten by AIeX|S .
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Name:

L the 2 contractions in each sentence.

be nearly done cleaning icleared the table!
if(he’s)going to get the gum out of his beard,(he’llhave to trim it.

A contraction combines 2 words with an apostrophe to replace the missing letters.

2 Sort the words by their spelling pattern. 3 What does smear have
n h | iy to do with fingerpainting?
steer cheer clear year smear
s o ANSWERS WILL VARY
| somethingina [You smear the paint
messy way . . I
clear steer (verb) if you're fingerpainting.]
year cheer
4 Use context clues to find the 5  Write combinations of I5. 6  Write the number in different 7 Tell the time.
meaning of the underlined word. forms.
She peered into the 15 LA | 430 can be written as: The hour handlis
dark closet to find her 5 10 9 6 || in theA_
lost shoe. 15 _5:10 9+ 6 15 4 hundreds 5 tens o’clock space.
Peered means .
® looked 15-10 =5:15- 6= 9 orﬂtens 30 minutes
ooke —_
O shouted 10 + i =15 : E -9=6 or 4300nes have passed since
: the hour started.
8 There were 5] deer in meadow. 22 of them ran over the hill.
How many deer are still in the meadow?
off ¢ The time is:
29 deer are still in the meadow 4 :30
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Name:

1

Complete each sentence using a contraction with will.

CONTRACTIONS
Il we'll
you'll they'll

she'll it'll

be here soon!

ANSWERS WILL VARY

have no fear of it.

2

tear

Write the word that matches each picture.

hear

gear year

N

<>

+ forgot

flolriglo|t
flo|r|glo|t
flo|r|glo|t

smear

to spread
something in a
messy way

(verb)

On the walls, the children had smeared...

ANSWERS WILL VARY

[paint, marker, jam,

chocolate, etc.]

""" gedar

5 Make a 9 into alO to add.
9 +5isthesameas10+4
0|0|0|0(0 00000
Q0|0/0|0 Q|0(0|0|
coooo) SISIore
9+7isthesqmeas10+m
94+7- 16 00000

I
\\\\\\\\\\\\\\

6

Write the numeral.

1 hundred
2 tens
4 ones

O 124

&hundreds
~ tens
ones

0850

7 Trace the paralell sides on

each parallelogram.

OPPOSITE PARALLEL SIDES:

O U

Grandma'’s red earrings cost $55. Her gold earrings cost $70.

How much less did she spend on the red earrings?

15 fewer dollars

$70 - $55=$15

64

— L
[

with opposite sides that are parallel
and the same length.
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Name:

2

I Rewrite the sentence correctly. ) Hes tried everything to cleer his ears!

Circle & write the word that has the same vowel sound as the picture. | 3

BN herd
trip f------------@B------ e
e e r to spread

something in a

smear

rs!

What would you smear on your toast?

8  Draw coins to show 2 different ways to make 35¢.

35¢

ANSWERS WILL VARY

35¢

messy way ANSWERS WILL VARY
& bread }------------ B - I --------- (verb)
great whnee
¢ ( d i S=- ) 5 Make jumps of tens and ones 6 Use symbols to compare the 7 One person has 2 ears.
.............. to add 26. numbers. How many people are here if
“not” or “opposite of” +10 there are 20 ears?
; ———=| (&)
disconnect a7
prefix base word 61+26= i
dis |connect @ 40 ears
R ¢ 3:3 o— S 2 _
nOt conneCted 33+26 =& is greater than s less than iseqTalto 20 groups OIF

2is 40.

5
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Name:

1 Write about something you're happy about. Use the contractin I'm. the contractions.

2 Form a contraction with the words.
4
she’'ll
4
you'll
that'll

A contraction combines 2 words with an apostrophe.

she + will

you + will

that + will

3

glare

Draw a line to connect each word to the correct meaning.

m

coil

to wind around
in circles

: to look at someone in
an angry way :

very small

4 move 5 Solve 6 Draw arrows to add a hundred
‘ on the open number line.
+(20)-86
m|o|v|e (_C/‘h R
209+609 KO0 | -
38+100- 198
molvie A : —
LI 4
molv]e] | @g0-@ |
65+100 = 165
® The toothpick is 2 inches long. The straw is 5

J
4

SN . .

7

Ameera has 42 problems on
her homework. So far she has
finished 29 problems.

How many more problems
does she need to solve?

13 problems
42-29=13
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just a little easier for teachers by
designing curriculum that is both
rigorous and easy-to-use!

Emily & Heidi

Ready to take your word work

to the next level?

I WANT WORD PLAY!



https://twitter.com/2ndstorywindow
https://www.pinterest.com/emilycake84/
https://www.instagram.com/2ndstorywindow/
https://www.facebook.com/secondstorywindow/
https://www.teacherspayteachers.com/Store/Second-Story-Window
https://secondstorywindow.lpages.co/word-play-free-sample/
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